Goodwill: Concept and
Mode of Valuation

LEARNING OBJECTIVES
The Study of this Chapter would enable you te understand:
) Meaning of Goodwill
21 Characteristics or Features of Goodwill
3 Need for Valuing Goodwill
J Factors Affecting the Value of Goodwill
2 cClassification of Goodwill
2 Mode or Methods of Valuation of Goodwill
(@) Awverage Profit Method
—Simple Average Profit Method
—Waeighted Average Profit Method
&) Super Profit Method
{c) Capitalisation Method
—Capitalisation of Average Profit
—~Capitalisation of Super Profit

MEANING OF GOODWILL

Goodwill can be said to be positive impression in the mind of the customers about the firm who
continue to patronise it. For example, 'Apple' computer and mobile phones and HO completers.

"Gooawill is nothing more than the profitability that the old customers will resort to the old
place” -—-Lord Eldon.

"When a man pays for Gooawill, he pays for something which place him in the position of being
able to earn more than he would be able to do by his own unaided efforts” --Dicksee

"Goodwill may be said to be that element arising from the reputation, connection or other
advantages possessed by a business which enable it to earn greater profit than the return
normally to be expected on capital represented by the net tangible employed in the business”

Stating differently, Goodwill is the value of reputation of a firm in respect of the profits expected
in future over and above the normal profits earned by other similar firm belonging to the

industry.

Characteristics or Features of Goodwill

The Characterstics or Features of Goodwill are:-

* Itis anintangible assets, i.e. an asset which can't be seen or touched.

* It does not have an existence separate from that of an enterprise. This it has realisable
value when business is sold.

* It helps in earning higher profits or super profits.

It is an attractive forces which brings in customer to old place of business.

* |t comes into existence due to various factors such as locational advantages, favourable
contracts, brands, trademark, patents, market reputation etc,

* In the context of partnership, it is the value of share or profit sacrificed by the
sacrificing partner.

* Value of Goodwill is subjective as it depends on the assessment orlf the valuer.

*



Need for Valuing Goodwill
The need for valuation of Goodwill arises:-
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When there is a change in the profit-sharing ratio.
When a new partner is admitted.

When a partner retires or dies.

When partnership firm is sold as a going concern.
When two or more firm's amalgamate.

When a partnership firm is converted into a company.

Factors Affecting the Value of Goodwill

Goodwill of a firm is affected by all the factors which increase the eaming capacity of the firm.
These factors arc:

1.
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10.
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Efficient Management: If the management is experienced capable and competent,
the firm will carn higher profits as compared to other firms. It will, thus, increase the value
of goodwill.

Favourable Location: If the business is located at a favourable place, resulting in increased
customer walk-in and, therefore, increased sale, the value of goodwill will be higher.

. Favourable Contracts: Sometimes, a firm has long-term contracts for sale and purchase of

goods at favourable prices. This will also affect profits and goodwill of the firm.

. Longer Establishment of Business: Business established for long are likely to have

wide customer base resulting in higher sale and profit. As a result, it will have higher
value of goodwill.

. Advantage of Patents: Normally, patents are necessary for the manufacture or production

of certain types of articles. A firm which possesses the necessary patents will have a better
value for its goodwill.

. Access to Supplies: When supplies of materials are difficult to get, there will be a high

value of goodwill for a firm which has good arrangements for getting supplies.

. Quality: If a firm enjoys good reputation for the quality of its products, there will be a

ready sale and the value of its goodwill, therefore, will be high.

. Market Situation: If a firm is in a business wherein demand for the products dealt in is

higher than the supply, it will lead to lower capital requirement and higher profit. It will,
thus, increase the value of its goodwill.

Risks Associated with Business: If the risks faced by the business are higher than normal,
the business will have less value for goodwill. On the contrary if the business faces lower
risks, it will have higher value of goodwill.

Nature of Business: If the business of a firm is of the nature where the products dealt in
are in high demand although not short in supply, the profit will be higher. It will, thus,
increase the value of its goodwill.

Past Performance: The firms earning higher profits year after year, will have better value
for goodwill as compared to firms earning lesser profits or incurring losses with similar
amount of capital employed.

Other Faclors: (a) After sale service, (b) Good customer relations, and (c) Good labour

relations, ctc.

CLASSIFICATION OF GOODWILL

Goodwill is two types:-

1.
2.

Purchased Goodwill, and
Non purchased Goodwill of self generated Goodwiill.



- Purchased Goodwill: Purchased Goodwill is that goodwill which is acquired by a firm

a consideration, whether paid in cash or kind. For example, when a business is Purchag,
and purchase consideration is more than the value of net assets (i.e., Assets — Liab.lj“.ﬁ
the difference amount is the value of purchased goodwill. L
Let us take an example. AB Business House acquires Mahagun Business for ey
consideration of T 10,00,000. Assets acquired were valued at 2 20,00,000 and |iabi]“i“
taken over were of T 12,00,000. T 2,00,000 paid in excess of net assets, ire, T a,m‘mo
(T 20,00,000 — T 12,00,000) is towards goodwill, which is purchased goodwill.
AS-26, Intangible Assets prescribes that purchased goodwill should be accounted in the books
account and written off at the earliest. )
Features of Purchased Goodwill

(1) It arises on the purchase of a business.

(if) Since the consideration is paid for it, it is recorded in the books of account.
(rir) It is shown in the Balance Sheet as an asset.

(i) Value of Goodwill is a subjective assessment but it is ascertained when both purchase
and seller agree to its valuation.

(v) Itis amortised at the earliest but not later than its useful life.
(v7) Value of goodwill depends upon the purchaser’s expectation of future profits.

Ilustration 1 (Purchased Goodwill).

Amrit Daily Needs acquired the business of Shri Shivam for a purchase consideration of
T 5,00,000 payable by cheque. The assets acquired and liabilities taken over are:

Assets: 4 Liabilities: T
Fumiture 10,000 Creditors 5,20,000
Inventory 7,350,000 Salaries Payable 75,000
Debtors 1,50,000 | Outstanding Expenses 15,000
Pass the necessary Journal entries.
Solution: Amrit Daily Needs
JOURNAL
Date Particulars LF Dr.(®) e
Furniture A/c ' -Dr. 10,000
Inventory Alc ~Dr. 7.50,000
Debtors A/c -Dr. 1,50,000
Goodwill A/c (Balancing Figure) ~Dr. 200,000
Te Creditors A/c 520,000
To Salaries Payable AJc 75,000
To Outstanding Expenses AJc 15,000
To Shivam 5,000,000
(Being the business of Shivam acquired for a net consideration
of 2 5,00,000; T 2,00,000 being towards goodwill)
Shivam ~Dr. 5,00,000
To Bank AJc 5,00,000
(Being the cheque issued o Shivam)

2. Non-

factors
running

business possesses due to which it is able to earn higher profit.

Features of Non-purchased Goodwill or Self-generated Goodavill

(i) It is generated internally, generally over the years.
(i) Its valuation is subjective assessment of the valuer, being not based on an evidence.

(iii) AS-26, Intangible Assets prescribes that sel-generated goodwill is not recognised as anl

asset, i.

e, not accounted in the books of account.

Purchased Goodwill or Self-generated Goodwil:- Self-generated goodwill is that |
goodwill which is not purchased for a consideration but is earned by the efforts of thel
management (or partners). It is an internally generated goodwill which arises from a | number of
(such as favourable location, efficient management, good quality of products,etc.) that a



METHODS OF VALUATION OF GOODWILL
Walue of goodwill is personal assessment of the valuer and is usually agreed among the
partners. It is valued as per the method stated in the Partnership Deed or as per the method of
valuation agred by the partners. However, following three methods are followed for valuing
goodwill.
1. Average Profit Method:
(1) Simple Average Profit Method; and (ii) Weighted Average Profit Method;
2. Super Profit Method; and
3 Capitalisation Method:
(i) Capitalisation of Average Profit Method; and (ii) Capitalisation of Super Profit.

1. Average Profit Method

Goodwill under Average Profit Method can be calculated either by:
(1) Simple Average Profit Method; or
(i) Weighted Average Profit Method.

(i) Simple Average Profit Method

Under Simple Average Profit Method, normal business profits eamed by the business for the
specified number of years are considered. While calculating normal business profit or future
maintainable profit on the basis of past profits any abnormal gain is excluded by deducting from and
amy abnormal loss is included by adding to the past profits. Normal profits earned are totalled and
average is determined. Average profit as calculated is multiplied by number of years” purchase
to determine the value of goodwill. In the form of formula,

Goodwill = Average Profit x Number of Years” Purchase.

Number of years’ purchase means the number of years for which the firm is likely to earn the same
amount of profit after change of ownership because of the cfforts put in the past.

This method is based on the assumption that a newly started business will not earn any profit
during the initial years of its operation. Hence, one who purchases a running business pays
goodwill for being in a position to earn profit in the initial years of business. '

Valuation of Goodwill
Step 1: Calculate Normal Profit
Goodwill under this method is calculated on average normal profit of each of the past Years
considered for calculating goodwill.
Normal Business Profit (or Future Maintainable Profit) is calculated for each year as follows.
Profit/TLoss) of Past Year (Before Adjustment) (Given): !
Add- (1) Abnormal Losses (e.8., Loss by fire, Loss by theft, etc.)
(i) Loss on Sale of Fixed Assets (Since it is not a normal business activity)
(7i7) Owervaluation of Opening Stock or Undervaluation of Closing Stock
(Since it would have reduced the profit)
() Non-recurring Expenses (Such expenses are not expected in future)
(v) Capital Expenditure charged as Revenue Expenditure _
(c.g., Purchase of machinery wrongly debited to Purchases Account)

Less: (1) Abnormal Gains (e.g.. Gain (Profit) on Sale of Fixed Assets) )
(i7) Overvaluation of Closing Stock or undervaluation of Opening Stock )
(As it would have increased the profit)
(iif) Non-recurring Incomes (Such incomes are not expected in future) ()
(iv) Income from Non-trade Investments (=)
(As it is not related to normal business activities)
(v) Partners’ Remuneration or Management Cost, if it is not deducted =)
(As it is the value of their services to be paid in future years)
(v1) Any expense that should have been incurred but not incurred,
like insurance premium
Adjusted Profit (Future Maintainable Frofit)

| -
| w



—y - -

Step 2: Find Average Profit
Add the normal profit (as calculated in Step 1) for all the years and divide the sum of it by the
number of years for which profit is determined to calculate the average profit.

Average Profit = Total of Profits/No. of Years

Step 3: Determine the Number of Years’ Purchase

Number of years’ purchase means the years for which the firm is likely to earn that much profit
because of the efforts made in the past. It is estimated for valuation of goodwill.

Step 4: Find Value of Goodwill
Value of Goodwill is calculated by applying the following formula:
Goodwill = Average Profit (as per Step 2) x Number of Years’ Purchase (as per Step 3)

For example, goodwill of a firm is to be valued at three years’ purchase of four years’ average
t. The firm camed profits in the previous four years’ as  15,000; T 11,000; T 18,000 and
t 16.000. Goodwill will be valued as follows:
T 15,000 + 11,000 + T 18,000 + T 16,000
- -
Goodwill = Average Profit « Number of Years’ Purchase
=T 15,000 = 3 = T 45,000.

Average Profit = 2 15,000

Ilustration 2 (Average Profit Method when Adjustments are Made).

Aman purchased Bharatendu’s business with effect from 1st April, 2020. It was agreed that
the firm’s goodwill will be valued at two years” purchase of average normal profit of the last
three vears. The profits of Bharatendu’s business for last three years ended 31st March, were:

2018 : ¥ 1,00,000 (including an abnormal gain of T 10,000);
2019 . T 1,10,000 (after charging an abnormal loss of T 20,000);
2020 : T 85,000 (including interest of T 5,000 from non-trade investment).
Calculate value of the firm’s goodwill.
Solution: Years Adjustments Normal Profit (T)
Profit for the year ended 31st March, 2018 (T 1,000,000 — T 10,000) 90,000
Profit for the year ended 31st March, 2019 (T 1,710,000 + T 20,000) 1,320,000
Profit for the year ended 31st March, 2020* (T 85,000 - T 5,000) 80,000
Total Normal Profit for last three years 3.00,000
Average Normal Profit = Total Normal Profit > T 3,00,000 - 2 1,00,000

Number of Years 3
Goodwill = Average Profit x No. of Years’ Purchase
= ¥ 1,00,000 = 2 = T 2,00,000.
* For valuation of goodwill, Net Profit will not include interest on non-trade investment because, it does
not give profit from business.
Illustration 3 (Average Profit Method when Past Adjustiments are Made).

Simran purchased Anita’s business on 1st April, 2020. It was agreed to value goodwill at three
years’ purchase of average normal profit of the last four years. The profits of Anita’s business

for the last four years were:
Year Ended 31st March, 2017 31st March, 2018 31st March, 2019 315t March, 2020
Profit (T) 90,000 1,60,000 1.80,000 2.20.000

It was observed from the books of account that:

1. During the year ended 31st March, 2017, an assct was sold at a gain (profit) of T 10,000.

2. During the year ended 31st March, 2018, a machine got destroyed in accident and ¥ 30,000
was written off as loss in Profit and Loss Account.

3. In the year ended 31st March, 2019, firm’s asscts were not insured due to oversight. Insurance

premium being T 10,000.
Calculate the value of goodwill.



Solution: CALCULATION OF NORMAL PROFIT

Year Ended Profit (7) Adjustment () Normal Profit7)
31st March, 2017 90,000 (10,000) 80,000
31st March, 2018 1,60,000 30,000 1.90,000
31st March, 2015 1,80,000 (10,000) 1,70,000
315t March, 2020 2,20,000 - 2,20,000

6,60,000 =

e

Total Normal Profit _ ¥ 6,60,000
Number of Years 4
= T 1,65,000
Goodwill = Average Profit = Number of Years” Purchase
= ¥ 1,65,000 x 3 = ¥ 4,95,000.
Note: Insurance premium towards insuring assets is a regular/recurring expense. Had the firm insured the

assets, its profit would have been lower by T 10,000. Therefore, it is deducted from the profit for the year
ended 31st March, 2019,

Average Profit =

[iustration 5 (Average Profit Method when Past Adjustments are Made).

Luv and Kush‘am pariners sharing profits equally. They admit Shubh into partnership for equal
share. Goodwill was agreed to be valued at two years’ purchase of average profit of last four
years. Profits for the last four years were:

. Year Ended r

315t March, 2017

70,000;
31st March, 2018 1,00,000;
31st March, 2019 55,000 (Loss);
315t March, 2020 1,45,000.

The books of account of the firm revealed as follows:
1. The firm had abnormal gain of T 10,000 during the year ended 31st March, 2017
2. The firm incurred abnormal loss of T 20,000 during the year ended 31st March, 2018.

3. Repairs to car amounting to ¥ 50,000 was wrongly debited to vehicles on 1st April, 2018
Depreciation was charged on vehicles @ 10% on Straight Line Method.

Calculate the value of Goodwill.

Solution: CALCULATION OF NORMAL PROFIT
Year Ended Profit/(Loss) (%) Adjustments* (7) Normal Profit (T)
315t March, 2017 70,000 (10,000) 60,000
315t March, 2018 1,00,000 20,000 1,20,000
315t March, 2019 (55,000) (45,000) (1.00,000)
315t March, 2020 1,45,000 5,000 1.50,000
2,30,000
: "
Average Profit = TON?:\;::IE?YZ::? - t 23:“)2 =T 57,500
Value of Goodwill = Average PProfit x Number of Years’ Purchase
= ¥ 57,500 <2 =T 1,15,000.
“Adjustments: 2
1. Repairs expenses that should have been debited to Profit and Loss Account
as expense but accounted as capital expenditure. Loss to increase by ¥ 50,000 (50,000)
2 Depreciation wrongly debited to Profit and Loss Account as expense for the
Year ended 31st March, 2019 5,000
Adjustment to be made in profit for the year ended 31st March, 2019 (45,000)

3. Adjustment to be made for depreciation for the year ended
31st March, 2020 that was wrongly charged (10% of ¥ 50,000) 5,000



(if) Weighted Average Profit Method

Under Weighted Average Profit Method, profit for each year is multiplied with the weigh
assigned to each year to determine the product. The product as well as the weights are totalled
Product total is divided by the total of weights to determine Weighted Average Profit. More
Weightage is assigned to the profit of recent year as it indicates the most likely profits in future.
The Weighted Average Profit determined is multiplied by the “Number of Years’ Purchase’ to
determine the value of goodwill.

Valuation of Goodwill

Step 1: Calculate Normal Profit
Normal Profit is calculated as follows:
1. Take profit for each year.

2 Deduct abnormal gain (profit), if any, credited to Profit and Loss Account. Such as gain
(profit) on sale of fixed assets.

3. Deduct recurring expenses not incurred during the year, if any.
4. Add abnormal loss, if any, incurred during the year and debited to Profit and Loss Account
At this stage, normal profit for each year will be determined.

Step 2: Select the Weight to be Assigned (given) to each year's piofls
step 3 Calculate Weighted Average Normal Profit
1 REDRE SO ERciv yeRt (determined as per Step 1) be multiplied by the weight assigned for
that year and find the product (weighted profit).
Total the Weighted Profit (Product) and also the weights.
Divide the Total of Weighted Profit (Product) with the total of weights.
weighted Average Profit = Total of Weighted Profit
Total of Weights
Step 4: Find the Value of Goodwill

b o

Multiply Weighted Average Profit (as determined in Step 3) by the ‘Number of Years’ Purchase’.
It is the value of goodwill. Expressed as a formula, it is
Goodwill = Weighted Average Profit * Number of Years’ Purchase.

Reason for using Weighted Average Profit: Past profits show the trend of financial performance
(sale} which in turm, indicates the trend of profits. Profits earned by an entity in recent years
is more relevant as compared to earlier years. Therefore, more weightage should be given to
recent profits which is followed under the method.

Weighted Average Profit Method is considered better as compared to Simple Average Profit

Methed as it gives more weightage to the profits of recent years. This method is particularly
effective when profits show rising or falling trends.

Mustration 7.
The profits of a firm for the last five years were:
Year Ended 315t March, 2016

31st March, 2017

31st March, 2018

31st March, 2019

315t March, 2020

Profits (T)

40,000

48,000

60,000

50,000

36,000

Calculate value of goodwill on the basis of three years’ purchase of the weighted average

profit after assigning weights 1, 2, 3, 4 and 5 respectively to the profits for years ended
31st March, 2016, 2017, 2018, 2019 and 2020.

Solution: CALCULATION OF WEIGHTED PROFIT
Year Enced Profit (T) Weights Weighted Profit (X)

A B C D=8xC

315t March, 2016 40,000 1 40.000

31t March, 2017 48,000 2 96,000

315t March, 2018 &0,000 3 1,680,000

3135t March, 2019 50,000 ] 2,00,000
313t March, 2020 36,000 5 t.so-ooo
Total 15 6,96,000

Total of Weighted Profit T 6,96,000
Total of Weights = 15
Goodwill = Weighted Average PProfit x Number of Years' Purchase

= T 46,400 = 3 =T 1,39,200.

Weighted Average Profit = = T 46,400.



Ilustration 8 (Weighted Average Profit Method when Past Adjustments are Made).

AKhiland Nikhil are partners sharing profits equally. They admitted Dinesh into partnership ;,
was agreed to value goodwill at three years’ purchase following Weighted Average Profit Meyp, v
on the basis of past five years’ profits. Weights assigned to cach year would be—years eng,y
318t March, 2016-1, 20172, 2018-3, 2019-4 and 2020-5. The profits for these years were.

—c

YearEnded | 31stMarch 2016 | 31stMarch 2017 | 31stMarch, 2018 | 315tMarch, 2019 | 315t March, 200
e

Profits (1) 90,000 60.000 1,25,000 1,50,000 1,75,000

Scrutiny of books of account revealed the following;
1. There was an abnormal loss of 2 15,000 during the year ended 31st March, 2016,
2. There was an abnormal gain of ¥ 10,000 during the year ended 31st March, 2018,
3. Closing Stock as on 31st March, 2019 was overvalued by T 15,000,

Calculate value of goodwill.

Solution:
CALCULATION OF NORMAL PROFIT
Yewr Ended Profit () L Adustment @) Normal Profit (1)
315t March, 2016 90,000 15,000 105000
315 March, 2017 80,000 . 80,000
315t March, 2018 1,25,000 (10,000} 1,15,000
315t March, 2019 1,50,000 (15,000/* 1,35,000
3151 March, 2020 1,75,000 15,000° 1,90,000

*Closing Stock being overvalued on 31st March, 2019 means that profit for the year is shown at higher
amount. It has effect on the profit for the next year, Profit for next year is shown at lower amount as Closing
Stock of previous year s carried forward as Opening Stock of next year.

CALCULATION OF WEIGHTED PROFIT
Yeat Ended Profit (1) Weights Weighted Profit (T)
315t Maich, 2016 1,05,000 ! 1,05,000
3151 March, 2017 80,000 2 1,60,000
315t March, 2018 1,15,000 ] 3,45,000
318t March, 2019 1,35,000 1 540,000
315t March, 2020 190,000 5 9,50,000
15 21,00,000 s
L Total of Weighted Profit 2 21,00,000
Weighted Average Profit = ——— = T 1,40,000

Total of Weights — ~ 15
Value of Goodwill = Weighted Average Profit x Number of Years’ Purchase
= T1,40,000 = 3 = T 4,20,000,



Mlustration 10 (Weighted Aocrage Profit Method when Past Adjustments are Made).
Caloulate the goodwill of a firm on the basis of three years” purchase of the weighted AVeragy

profit of the last four years. Profits of these four years ended 31st March, were:

Year Ended

315t March, 2017

315t March, 2018

315t March, 2019

315t March, 2029

Profn (T)

40,400

49,600

40,000

60000

The weights assigned to cach year ended 31st March, are: 2017 —1;2018=2; 2019—3 and 2020 ¢
You are provided with the following additional information:

(1) On 31st March, 2019, a major plant repair was undertaken for T 12,000 which wag
charged to revenue. The said sum is to be capitalised for goodwill calculation subject
to adjustment of deprediation of 10% p.a. on Reducing Balance Method.

(i) The Closing Stock for the year ended 31st March, 2018 was overvalued by T 4,800.

(#) To cover management cost an annual charge of 9,600 should be made for the purpose
of goodwill valuation.

Solution: CALCULATION OF ADJUSTED PROFIT
Particulany 3lullnﬂt20|?mi!lﬂ March, 2018 (T)| 315t March, 2019 (T)| 315t March, 2020 ™
Goven Profits 40,400 49,600 40,000 60,000
s Annual Management Cost 9,600 9,600 9,600 9,600
30,800 40,000 30,400 50,400
Age Capeal Expendrture on Plamt = 2 12.000 =
30,800 40,000 42,400 50,400
Less Unprovided Depreciation on Plant - . - 1,200
30,800 40,000 42,400 49.200
Less: Owervaluation of Closing Stock - 4,800 - -
30,800 35,200 42,400 49,200
Add. Overvaluation of Opening Stock = = 4,800 -
Adyusted Prohny 30,800 35.200 47,200 49,200
CALCULATION OF WEIGHTED PROFIT
Year Ended Profits () Welghts Weighted Profit ()
315t March, 2017 30,800 1
315t Maech, 2018 35,200 m
315t March, 2019 47.200 3 141,600
315t Mavch, 2020 49,200 4 1,96,800
Yoral 10 439,600
, Total of Weighted Proiit T 4,39,600 -
W o = - 0
eghted Average Profit Total of Weights T = 2 43,960

Goodwill = Weighted Average Profit « Number of Years” Purchase
= 243960 = 3= 1,31,850,
Working Notes
1. Depreciation on Plant for the year ended 315t March, 2019 is
o ool agi sl ch, NIL as the major repairs were carried out

i Depreciation on Plant for the year ended 315t March, 2020 = 10% of € 12.000 - ¢ 1.200.

3 Closng Stock of the year ended 315t March, 2018 will
315t March, 2019. become Opening Stock of the year ended



2. Super Profit Method :
Similar amount of capital employed yiclds different profits for different mwﬂscs;ed it is
a similar type of business cams profit at a certain percentage of the capital employed.
called normal return. But a buyer’s advantage lies in the excess of the no
employed. The excess of actual/average profit over normal profit is known as super pro 15%
example, a firm has capital employed of T 10,00,000 and its return on capital emplo :;' II.IB'
i.e, T 1,50,000. Normal return on capital employed in similar business is 10%, 1.¢-, ¥ L0
The firm has super profit of 2 50,000 (i.e., T 1,50,000 — ¥ 1,00,000).
Capital Employed: Capital employed means capital invested in the
calculated to determine the value of goodwill. Capital employed may be calculated by:
(i) Starting with Partners’ Capital (Liabilities Side Approach):
Capital Employed = Capital + Reserves — Goodwill, if any existing in the books = s teakis
Investments - Fictitious Assets

(i1) Starting with Assets (Assets Side Approach):

Capital Employed = All Assets (except goodwill, non-

assets) - Outside Liabilities

Example 1 {When Investments are Trade Investments).
Calculate capital employed by the above two approaches with the help of following Balance Sheet:

firm to carry on business. It is

trade investments and fictitious

Labities T Assets 1;0,00(:-
Capital Afcs: Land and Building
Aman 100,000 Goodwill 30,000
Bhaskar 100000 | 200000 | Investments (Trade) 50,000
General Reserve = 90,000 | Stock SN
Sundry Creditors 90,000 | Sundry Debtors 70,000
Qutstanding Expenses 10,000 | Cash atBank 30,000
Deferred Revenue Expenditure:
Advertisement Suspense | 10,000
350500 35000
Solution:
Capital Employed
(i) Starting with Partners’ Capitals (Liabilities Side Approach):
Partners’ Capitals T
Aman 100,000
Bhaskar 1,00,000 2,00,000
Add: General Reserve 90,000
2,90,000
Less: Fictitious Asset (Advertisement Suspense) 10,000
Goodwill 30,000 40,000
Capital Employed 2,50,000
(1)) Starting with Assets (Assets Side Approach): ? 3
All Assets (Total of Assets Side) 3,90,000
Less: Fictitious Assets (Advertisement Suspense) 10,000
Goodwill 30,000
Sundry Creditors 90,000
Outstanding Expenses 10,000 1.40.000
Capital Employed 2:50' 000

While calculating Capital E de : ] . NS
: ¢ Capital Employed, Trade Investments are taken as part of capital
Non-trade Investments are not. part of capital employed whereas
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the furtherance of own business.

MEANING OF TRADE INVESTMENTS AND NON-TRADE INVESTMENTS
Trade Investments are those investments that are made in another entesp,,

€ f,‘r

Non-trade Investments are those investments that are made to earn revep,,,
investing surplus funds and not for the purpose of lurtherance of own busing,, '

Non-trade Investments.

Note: Unless investments are specified to be trade investments, they ar;_f:;;ﬁ

Example 2 (When Investments are Non-trade Investments).
Calculate capital employed by Liabilities Approach and Assets Approach from the fol),,, o

—

Balance Sheet:
= z Assets _—r_h?"‘
. : Land and Building T i
- 200000 Goodwill r
Sudhir 2,00,000 4,00000 | Investments 1000
Reserves 1,80000 | Stock 1000
Sundry Creditors 1,80,000 ‘5::;?2 g;:m | a0y
: 2| viatrowmspsine -
Advertisement Suspense [ 2om
7,80,000 750
Solution: =
(/) Calculation of Capital Employed by Liabilities Side Approach:
Partners’ Capitals ? t
Amrit 2,00,000
Sudhir 2,00,000 400,009
Add: Reserves 180,000
15,5000
Less: Investments (Non-trade) 1,00,000
Fictitious Assets —Deferred Revenue Expenditure 20,000
(Advertisement Suspense)
Goodwill 60,000 1,80,00
Capital Employed Tﬁ@
(1) Calculation of Capital Employed by Assets Side Approach:
Total Assets 780,000
Less: Fictitious Assets —Deferred Revenue Expenditure
(Advertisement Suspense) 20,000
Goodwill 60,000
Investments (Non-trade)* 1,00,000
Sundry Creditors 1,80,000
Outstanding Expenses 20,000 38000
Capital Employed £

*Unless Investments are stated to be trade investments, they are considered to be non-trade investment
They are, therefore, deducted to calculate Capital Employed.



Gometimes average capital employed is considered for calculating value of goodwill on the
pasis that pmﬂt. s camed during the year and capital employed changes from time t0 time.
Wﬂiﬂ under this method is calculated by m ultiplying super profit with the agreed number ‘f!i""" purchase.
For calculating goodwill under this method, the steps are:

gtep 1: Calculate Average Capital Employed as follows:

Opening Capital Employed + Closing Capital Employed
2
Capital Employed = Capital + Reserves - Fictitious Assets (if any)
- Non-trade Investments
Or
= All Assets (except goodwill, non-trade investments pnd
fictitious assets) - Outside Liabilities.
Step 2 Calculate actual profit, ie., actual average profit. Profit earned by a firm for the year
is adjusted for abnormal gains and losses, if any and recurring expenses that have 10t
been incurred. The profit so determined is totalled and is averaged.

step 3: Calculate normal profit or return on average capital employed by applyin
following formula:

£ the

tu
Average Capital EmpIG}"Ed . Normal R;;E‘] of Returm

Note: Normal Rate of Return means the rate of return normally earned by other firms in the

similar industry.
Step 4: Calculate Super Profit, i.c., Actual Average Profit - Normal Profit.
Step 5: Calculate value of goodwill as follows:
Goodwill = Super Profit  Number of Years’ Purchase.

Hlustration 11 (Super Profit Method).
A firm earned net profits during the last three years as:

Year | i ]
Profit (7) 18,000 20,000 22,000
The capital investment of the firm is T 60,000. Normal return on the capital is 10%. Calculate value of
goodwill on the basis of three years’ purchase of the average super profit for the last three years.
Solution:
T 18 + 2 20,000 + ¥ 22,000

(i) Average Profit = 0t £ 2 3 2 = ¥ 20,000

(1) Normal Profit = 2 60,000 = 10/100 = ¥ 6,000
(1t4) Super Profit = Average Profit - Normal Profit

= 220,000 - T 6,000 =7 14,000
(iw) Goodwill = Super Profit x Number of Years’ Purchase

= ¥ 14,000 = 3 = T 42,000.



Ilustration 14,
Average prc-;ﬁl r.-a'n?ed by a firm is T 75,000 which includes undervaluation of stock of T 5,000 on
average basis. Ca?ltal invested in the business is 2 7 000‘.]0 and the normal rate of return is Tl
Calculate goodwill of the firm on the basis of 5 timets li'nr super profit.
Solution: Actual Average Profit = ¥ 75,000 + ¥ 5,000 (undervalued stock) = 80,000
Normal Profit = Capital Employed (Investment) x Normal Rate of Return/100
= T 7,00,000 = 7/100 = T 49,000
Super Profit = Actual Average Profit — Normal Profit
= 2 80,000 - ¥ 49,000 = T 31,000
Goodwill = ¥ 31,000 = 5 = ¥ 1,55,000.

Note: Undervaluation of stock decreases net profit. Hence, it is added to determine actual average profit.

1llustration 15.

Average profit earmed by a firm is T 2,50,000 which includes overvaluation of stock of T 10,000
on an average basis. Capital invested in the business is Z 14,00,000 and the normal rate of return
is 15%. Calculate goodwill of the firm on the basis of 4 times the super profit.

Solution:
Average Profit = T 2,50,000

Overvaluation of Stock = T 10,000
Actual Average Profit = ¥ 2,50,000 — 2 10,000 (Note) = T 2,40,000
Normal Profit = Capital Employed (Investment) x Normal Rate of Return/100
15
=T 14,00,000 = 100 =% 2,10,000
Super Profit = Actual Average Profit — Normal Profit
= ¥ 2,40,000 — ¥ 2,10,000 = T 30,000
Goodwill = Super Profit < 4
= ¥ 30,000 = 4 = T 1,20,000.

Note: Overvaluation of stock is deducted as it increased the net profit.
lustration 16 (Calculation of Average Profit).
On 1st April, 2019, a firm had assets of ¥ 3,00,000 including cash of ¥ 5,000. The Partners’ Capital

Accounts showed a balance of T 2,00,000 and the Reserve constituted the rest. If the normal rate
of return is 10% and the goodwill of the firm is valued at ¥ 2,00,000 at four years’ purchase of

super profit, find the average profit of the firm.

Solution: Goodwill = Super Profit x Number of Years’ Purchase

¥ 2,00,000 = Super Profit = 4

T 2,00,000
Super Profit = —— T 50,000

Normal Profit - Capital Employ ed = Normal Rate of Return/1000)
- T 3.00,000 = 10/100 = T 30,000
Super Profit = Average Profit — Normal Profit
T 50,000 = Average Profit — T 30,000

Average Profit T 50,000 + T 30,000 = T 850,.000.
As outside liabilities are not given, they are assumed to be nil. Thus, capital employed s

Note:



Ilustration 19 (Calculation of Capital Employed and Valuation of Goodwill when Non-trade

Inpestments are given).

Balance Sheet of Mfs Super Stores as at 31st March, 2020 was as follows:

Liabilities T Assets L]
Capital Afcs: Land and Building 4.00,000
Alia 1.50,000 Computers T0,000
bi 1.50,000 Furniture 30,00

Rishi 1,550,000 4,50,000 Investments 1,020,000
Reserves 2,50,000 Stock 2,00,000
Sundry Creditors 3.00,000 Sundry Debtors 1.50,000
DOutstanding Expenses 10,000 Bills Receivable 50,000
Cash Credit (Bank) 90,000 Cash in Hand 50,000

Deferred Revenue Expenditure:

Advertisement Suspense 50,000

11,00.000 [ 11,00.000

Average Profit was T 1,25.000. You are to calculate goodwill at 3 years’ purchase of Super Profits,

if the Normal Rate of Return is 15% of Capital Employed.
Solution: (1) CALOULATION OF CAPITAL EMPLOYED
Liabilities Side Approach T Assets Side Approach T
Fortners’ Caprtols: Total Assets 11.00,000
Alia 1,50,000 Less: Investments (Note) 1,000,000
Ranbis 1,50,000 Deferred Revenue Expenses 50,000 1,50,000
Rishi 150,000 4,50,000 (Advertisement Suspense)
Add: Reserves 2,50,000 2.50,000
7.,00,000 Less: Current Liobilities:
Less: Inwestments (Note) 1,000,000 Sundry Creditors 3,00,000
Deferred Revenue Expenditure 50,000 1,50,000 Outstanding Expenses 10,000
(Bdvertisement Suspense) Cash Credit [Bank) 50,000 4,00,000
5.50,000 5.50,000

() Normal Profit
Average Profit
Super Profit
Coodwill

15% of T 5,550,000 = T 82,500

T 1,25000

T 1.25.000 — T 82,500 = T 42,500

No. of years’ purchase = Super Profit
3 = T 42,500 = T 1.27,500.

Note: Uniess investments are specified 10 be trade investments, they are considered 1o be Non-trade Investrrens,
They are, therefore. deducted to caloulate Capital Employed.

Difference between Average Profit and Super Profit

Awverage Profit

Super Proft

It s average of the profits of past agreed
years.

It is the excess of average profit owe
ool profi.

MNormal rate of returm is NOT relevant in the
calculation of average profit.

Normal rate of return 3 Contidened whis
caboulating the super profit.

yed | Average capital ermp = nat

while calculating average profit.

A ge capital employed is taken o
account while calculating the super profie

Average profit is relevant for Average
Profit Method, Super Profit Method and
Capitalisation Method of valuation of

Super profit is relevant for Supes Profs
Method and Capitalisation of Super Profc
Method of valuation of goodhwill.

3. Capitalisation Mecthod
Under the Capitalisation Method, goodwill can be valued using two methods:
(1) Capitalisation of Average Frofit; or
() Capitalisation of Super Frofit.
() Capitalisation of Average Profit
Under this method, gooduwill = calculated by deducting capital employed (ie., Net Assets as on the
date of valuation) in the business from the capitalised value of average profit on the basis of Normal Rate
of Return. Capitalised value of the business is ascertained by capitalising average profit carmed
at the normal rate of profit.

For calculating goodwill under this method, the steps are as follows:

Step 1:
Step 2:

Capitalised Value of the Business —

Calculate average normal profit carmed.

Calculate capitalised value of the firm by using the formula given below:
Average Profit = 100

MNormal Rate of Retum (Profit)

If a firm carns a profit of T 16,000 annually and firms normally earn 10%, the totsl
capitalised value of the firtn will be T 1.60,000 (i.e.. T 16,000 = 100/10).

Step 3:

Determine the value of Net Assets, on the date of valuation of goodwill.

Net Asscts = All Assets (other than goodwill, non-trade investments and Aotioous
asscts) at their current values minus outside liabilities.

Step 4:

Goodwill = Capitalised Value of the Business (as per Step 2) — Net Assets (as per Step 3



[Hustration 20 (Capitalisation Method),

A firm earned ¥ 60,000 as profit, the normal rate of return being 10%. Assets of the firm are
¢ 7,20,000 (excluding goodwill) and Liabilities are T 2,40,000. Find the value of goodwill by
Capitalisation of Average Profit Method,
Solution:
Average Profit = 100
Normal Rate of Retumn
T 60,000 x 100
) 10
Net Assets of the Firm = Tolal Assets — Liabilitics
= ¥ 7,20,000 - ¥ 2,40,000 = T 4,80,000
Goodwill = Total Capitalised Value of the Firm - Net Assets
= ¥ 6,00,000 - T 4,80,000 = T 1,20,000.

Total Capitalised Value of the Firm =

=X 6,00,000

lustration 21,

Puneet and Tarun are in restaurant business having credit balance in their fixed Capital
Accounts as T 2,50,000 each. They have credit balances in their Current Accounts of
7 30,000 and ¥ 20,000 respectively. The firm does not have any liability. They are regularly
eaming profits and their average profit of last 5 years is ¥ 1,00,000. If the normal rate of retun
is 10%, find the value of goodwill by Capitalisation of Average Profit Method.

Solution:

Average Profit x 100
Capitalised Value of the Business = b ;

MNormal Rate of Return

- 71,00,000% I-%}a 2 10,00,000

Capital Employed = ¥2,50,000+% 2,50,000 + 30,000 + 2 20,000 = * 5,50,000
Goodwill = ¥ 10,00,000 - ¥ 5,50,000 = 2 4,50,000,
[Hustration 22,

Bharat and Bhushan are partners in a retail business. Balances in Capital and Current Accounts
as on 31st March, 2020 were:

Capital Account Current Account
Bharat T 2,00,000 T 50,000 (Cr.)
Bhushan 2 2,40,000 210,000 (Dr.)

The firm eamed an average profit of T 90,000. If the normal rate of return is 10%, find the value
of goodwill.
Solution:
Average Profit x 100
Normal Rate of Return

Capitalised Value of the Business =

” tgl},ﬂﬂﬂx%- ?9,00,000

Capital Employed = €2,00,000 + T 2,40,000 + ¥ 50,000 ~ ¥ 10,000 = T 4,80,000
Goodwill = T 9,00,000 - ¥ 4,280,000 = T 4,20,000.



(i) Capitalisation of Super Profit
Under this method, goodwill is calculated by capitalising super profit at the normal rate o
return. For calculating the goodwill, the steps are:

Step 1: Calculate Capital Employed (Note) (i.e, Net Assets as on the date of valuation) of the firy,
Net Assets = All Assets (except goodwill, non-trade investments and fictitious assey)
= Outside Liabilities.

Step 2: Calculate Normal Profit on Capital Employed by using the following formula:
Normal Profit = Capital Employed x Normal Rate of Return/100.

Step 3: Calculate Average Profit of past years, i.e., three to five years.

Step 4: Calculate Super Profit, i.c., Average Profit - Normal Profit.
100

Step 5: Goodwill = Super Profit Nocal Eale of Retum'

For example, where average profit is T 60,000 and the normal profit is ¥ 48,000, super profit
will be ¥12,000 (i.e., T 60,000 ~ T 48,000). Normal Rate of Return is 10%. Thus, value of goodwil
will be T 1,20,000 (i.e., T 12,000 x 100/10). *

Note: Unless investments are specified to be Trade Investments, they are considered to be Non-trade
Investments. They are, therefore, deducted to calculate Capital Employed (Refer to Pages 2.15 and 2.16]

Illustration 23.

Average profit of the firm is T 1,50,000. Total tangible assets in the firm are ¥ 14,00,000 and

outside liabilities are ¥ 4,00,000. In the same type of business, the normal rate of return is 10%
of the capital employed.

Calculate value of goodwill by Capitalisation of Super Profit Method.

Solution:
Capital Employed = Total Tangible Assets — Outside Liabilities
= T 14,00,000 - T 4,00,000 = T 10,00,000
Normal Profit = Capital Employed x Normal Rate of Return/100

10
=3 'm'm K ———= t l,w,{m
10 0 100

Super Profit= Average Profit - Normal Profit
- t l;w;m vy t llm’m — t m.m

Super Profit x 100
Normal Rate of Return

Goodwill =

T 50,000 x 100

= ¥ 5,00,000.
10



[llustration 24.

B, L‘::L“Wing Balavm.sh{_'.et of Vinod Enterprises as at 31st March, 2020, calculate the
m]ule of goodwill by capitalisation of Super Profits, if the normal rate of return is 20% of the
Capital Employed and Average Profit is ¥ 1,50,000:

thifnm_ t Assets ’
Capital Acs: o
puters 1,50,000
Vinod 2,00,000 Furniture 50,000
Vimal 3,00,000 500,000 | Goodwill 1,50,000
Reserves lﬂﬂ.ﬂm Investments wr{m
Bank m?ﬂ 200,000 | Sundry Debtors 5,00,000
Sundry Cll'edﬁuts 300000 | Stock 250,000
Outstanding Expenses 50,000 | CashinHand 50,000
13,50,000 73,50,000
Solution:
Capital Employed (Liabilities Side Approach): T T
Capital A/cs:
Vinod 2.00,000
Vimal 3,00,000 5,00,000
Add: Reserves 3,00,000
8,00,000
Less: Investments being Non-trade Investments 2,00,000
Goodwill 1,50,000 3,50,000
N 4,50,000
e
Capital Employed (Assets Side Approach): ? L4
Total Assets 13,50,000
Less: Investments (Being Non-trade) 2,00,000
GODdWI].l ]Jsurmn 3,3}*@
10,00,000
Less: Bank Overdratt 2,00,000
Sundry Creditors 3,00,000
Outstanding Expenses 50,000 5,50,000
4,50,000

Normal Profit

Average Profit
Super Profit

Goodwill

= Capital Employed *
% 4,50,000  20/100 = 90,000

= I lgwr[m ]
- Average Profit - Normal Profit

- 21,50,000-% 90,000 = T 60,000

Su ¢ Profit x 100
: NorrnalRalcufRetum

7 w.ﬂgﬂﬂx 100 2 3,00,000.

Normal Rate of Return



THustration 28.
From the following information, calculate value of goodwill of M/s Sharma & Gupta:

() At three years’ purchase of Average Profit.

(if) At three years’ purchase of Super Profit.
{iti} On the basis of Capitalisation of Super Profit.
{rr) On the basis of Capitalisation of Average Profit.

Information:

(@) Average Capital Employed — ¥ 10,00,000.

(b) Net Profit/Loss of the firm for the past years: 2018—3% 1,60,000 (Profit); 2019—3% 1,40,000
(Profit); 2020 —7% 2,70,000 (Profit).

{r) Normal Rate of Return on capital is 11%.

() ;ﬁnmuzi::fmn to each partner for his service to be treated as a charge on profit—3% 2,500

(e) Assets (excluding goodwill)—% 11,00,000; Liabilities —% 1,00,000.

Solution:
(i) Calculation of Goodwill at three years” purchase of Average Profil:

T 1.60,000+ T 1,40,000 + z 2,70,000
Average Profit = 3
T 5‘7;'000 = T 1,90,000

Profit = T 1,90,000 — Remuneration of Partners
- T 1,90,000 — (T 2,500 > 2 12)
- T 1,90,000 — T 60,000 = T 1.30,000
Goodwill = Average Normal Profit x No. of Years” Purchase
= T 1,30,000 x 3 = T 3,90,000.
(i) Calculation of Goodwill at three years” pu rchase of Super Profit:
Normal Profit = Capital Employed x Normal Rate of Return/100
= 7 10,00,000 x 11/100 = T 1,10,000
Super Profit = Average Profit — Normal Profit
= 2 1,30,000 — ¥ 1,10,000 = T 20,000
Goodwill = Super Profit x No. of Years’ Purchase
= ¥ 20,000 x 3 = T 60,000.

Average Normal

(iif) Calculation of Goodwill under Capitalisation of Super Profit:
Goodwill = Super Profit x L I
wi pex Normal Rate of Returm
- T 20,000 x< 100411 = T 1,81,818.18 or T 1,81, 818

{iv) Calculation of Goodiwill under Capitalisation of Average Profit:
Goodwill = Total Capitalised Value of Business — Net Asscts
Total Capitalised Vahie of the Firm '= AvSrage Nosmal Foofs x 300
Normal Rate of Return

T 1,330,000 <100
- S - T11,81,81818 or ¥ 1181818
Net Assets = Total Assets (excluding goodwill) — Outside Liabilities
= T 11,00,000 — T 1,00,000 = T 10,000,000

Goodwill = ¥ 11,81,818 - T 10,00,000 = T 1,81,818.

Ilustration 29.
From the following information, calculate value of goodwill of M/s Amit & Sumit:

() At three years’ purchase of Average Profit.
(if) At the two years’ purchase of Super Profit.
(fif) On the basis of Capitalisation of Super Profit.
(fw) On the basis of Capitalisation of Average Profit.
Information:
(@) Average Capital Employed —2 6,00,000.



fit/LLoss of the firm for the
@) NetPro Ppast three years: 2018 —¥ 2019 —

() Normal Rate of Return on capital is 12%,
@) Remuneration of each partner ¥ 30,000 per annum 1o be considered as a charge

against profit.
(¢) Assets—X 6,50,000; Partners’ Capital -2 6,00,000.

Solution:

(i C‘ﬁh_‘”fﬂﬁﬁﬂ amefw:H al three wears” purchase ﬂfﬁ-l’t‘fﬁ‘gf Pl’ll'ﬁ'.'
¥.2,00,000- % 1,00,000 + 2 2,30,000
3

Average Normal Profit = Average Profit — Partners’ Remuneration
= ¥ 1,10,000 - T 60,000 = T 50,000
Value of Goodwill = Average Normal Profit x Numbers of Years' Purchase
- t 50,0]} ®3= f 1.-50:':‘]1
(i) Caleulation of Gooduwill af three years’ purchase of Super Profit:
Nermal Profit = Capital Employed x Normal Rate of Return/100

=¥ 1,10,000

Average Profit =

12
=¥ 6,00,000 x —=
% 100 72,000

Super Profit = Average Profit - Normal Profit
= ¥ 50,000 - ¥ 72,000 = (¥ 22,000)

Since the firm does not have Super Profit, the value of goodwill is nil.

(iif) On the basis of Capitalisation of Super Profit:
The firm does not have Super Profit. Hence, the value of goodwill 1s nil.

() On the basis of Capitalization of Avernge Profit:
Goodwill = Total Capitalised Value of the Business — Net Assets
Tota Lo . Average Normal Profit x 100
otal Capitalised Value of the Business = Notmal Rate of Return

¥ 50,000 100
) 12
= ¥ 4,16,666 or T 4,16,667 (say)
Net Assets = Total Assets — Outside Liabilities
Outside Liabilities = Total Assets — Partners’ Capital
= ¥ 6,50,000 - ¥ 6,00,000 = ¥ 50,000
Net Assets = ¥ 6,50,000 - 50,000 = ¥ 6,00,000

Value of Goodwill = T 4,16,667 - ¥ 6,00,000 = (¥ 1,83,333)

The value of goodwill is nil since capitalised value of business is less than the net assets.



Higher Order Thinking Skills (HOTS) Questions

Q..
Ans.

Q.2

Ans.

Q.3.
Ans.

Q.4a.

Ans.

Q.s.

Q.6.
Ans.

Q.7.
Ans

Q.8.

Q.9.
Ans.

Q.10.

Q.11
Ans.

Q.12.
Ans.

Define Goodwill,

Goodwill is an intangible asset that a business possesses having value over and above the realigyy,
value of its other tangible and intangible assets.

Goodwill is the value of reputation of a firm in respect of the profits expected in future over and
above the normal profit earned by other similar firms belonging to the same industry.

Name two factors affecting the value of Goodwill of a firm.
(i) Favourable location and (i) Efficient management.

What type of asset is Goodwill?
Goodwill is an intangible asset.

Why is Goodwill considered as an Intangible Asset but nota Fictitious Asset?
It is not a fictitious asset because it has a realisable value. It is an intangible asset because &
cannot be seen and touched,
State two accasions when there is a need for valuation of Goodwill.
(i) When a new partner is admitted.
(i) When there is a change in profit-sharing ratio among the existing partners.

How does location affect the Goodwill of a business?
if the business is located at a favourable and prominent location then it increases the value of Goodwi
It is the location of the business in the market which, to a great extent, helps in attracting e
customers. Thus, a favourable location of business enhances its Goodwill.
How does the factor ‘efficiency of management’ affect the Goodwill of a firm?
If the manager is capable and competent, the firm will earn high profits which will increase the valut
of Goodwill.
How does the factor ‘quality of product’ affect the Goodwill of a firm?
Better quality of products will increase turnover and profit resulting in an increase in the value &
goodwill of the firm.
Name two methods of valuation of Goodwill.

(i) Average Profit Method and

(i) Super Profit Method.

Give the formula for valuation of Goodwill by Average Profit Method.

. Goodwill = Average Profit x Number of Years' Purchase.

Give the formula for valuation of Goodwill by Super Profit Method.
Goodwill = Super Profit x Number of Years' Purchase.

What is meant by Super profit?
Super profit means the profit eamed in excess of the normal profit, i.e., Average profit - Normal proft

1



- y. Whaths meant by Normal profit?
e!

ps. Nomal profit means the profit earned by the business in standard business conditions.
0.1% what is meant by Normal Rate of Return?

NS wmreofﬂetumrdmluuura:eofrmnnormilyﬂquh“ﬂ,m,ageﬁm in the sarne industry.
015 How ts Normal Profit calculated?
Capital Employed x Normal Rate of Return

100

Q.16 Whatis meant by number of years’ purchase in the valuation of a firm’s Goodwill? 4SC 2014)

Number of }'Eal'.’i' pur(ha!.e means the number of years for which the firm is M:EIY to earn the similar
amount of profit after change of ownership because of its past efforts.

ANt NDI'mJ‘ Profit =

Q.17. What is meant by capitalised value of Average Profits? Give the formula for determining it.
(ISC Sample Question Paper 2015}
Ans. Itis 2 method under which capitalised value of the business is determined by capitalising the average
profit by the normal rate of return. Out of the value so determined, value of net assets is deducted to
determine the value of Goodwill.

Average Profit x 100
Normal Rate of Return (Profit)
Net Assets = All Assets (Other than goodwill.non-tradeinvestments and fictitious
assets) at thelr current values minus Outsiders' Liabilities.
Goodwill = Capitalised Value of the Business - Net Assets

Capitalised Value of the Business =

Q.18. State the amount of Goodwill if it is calculated on the basis of three years’ purchase of last four years’
average profht. Four years' average profit = 2 1,25,000.
Ans. Goodwill = Average Profit x No. of Years' Purchase = ¥ 1,25.000 x 3 = ¥ 3,75,000.

Q.19. If super profits are ¥ 15,000 and rate of return is 15%, state the value of Goodwill on the basis of

capitalising the super profit.
; Super Profit x 100
*-I'IL Goodmll=
Normal Rate of Return
- €15,000 xlm=rmfmlm
15
Q.20. Give the formula for valuation of goodwill by the Capitalisation of Average Profit Method, (ISC 2018)
- Average Proft x 100

Ans. i =

Capitalised Value of the Business = s of FeaVPToRD

Net Assets = All Assets [mhenhangoodwiﬂ.nnn-tradﬂnvestmentsmd fictitious assets) at their current
values minus Outsiders’ Liabilities.
Goodwill = Capitalised value of the Business - Net Assets.

Q2. What s Purchased Goodwill?
Ans. When one business Is taken over by another business, the excess of purchase consideration over its
net assets value is referred to as Purchased Goodwill,



Q.22.
Ans. Non-trade Investments

Q.23. Why Trade Investments are included In Capital Employed?
Ans. They are included in Capital Employed because the amount

Short Answer Type Questions

1
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10.
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13.

15.
16.
17.
18.
19.
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. Why is self-generated Goodwill no

Why Non-trade Investments are not included in Capital Employed?
are investments made not for the furtherance of own business but it js -

investment of surplus funds. Since these investments are not for business purposes, they are exclude,

from Capital Employed.

is Invested for the purposes of busine,

Define Goodwill,

When does the need for valuing goodwill arise? f
Glve any two features of Goodwill.

what is meant by Purchased Goodwill?

Why is Purchased Goodwill accounted in the Books of Account?

What is meant by Self-generated Goodwill?

t accounted in the Books of Account?

What is meant by Average Profit?

. wWhat is meant by Super Profit in relation to valuation of goodwill?

What is Super Profit?

_ What is meant by Capitalisation of Average Profit?

What is meant by Capitalisation of Super Profit?

Why is goodwill considered as an intangible asset but not a fictitious asset?

State any two factors affecting the value of goodwill of a firm.
How does the factor ‘efficiency of management' affect the Goodwill of a firm?

How does the factor ‘quality of product’ affect the Goodwill of a firm?
How does location affect the Goodwill of the business?

How does the market situation affect the value of goodwill of a firm?
How does the nature of business affect the value of goodwill of a firm?

Name any four factors which affect the goodwill of a partnership firm.

ACTICAL PROBLEMS

rage Profit Method

Goodwill is to be valued at three years' purchase of four years' average profit. Profits for last four yeans

ending on 31st March, of the firm were:
2017—2 12,000; 2016—% 18,000; 2019—% 16,000; 2020—T 14,000.

Calculate the amount of Goodwill.



2, Annu, Baby and Chetan are partners in a firm sharing profits and losses equally. They decide to take
peep into partnership from 1st April, 2020 for 1/5th share in the future profits. For this purpose,
goodwill Is 1o be valued at 100% of the average annual profits of the previous three or four years,
whichever is higher,

The annual profits for the purpose of goodwill for the past four years were:

Year ended Proft (T)
318t March, 2020 288,000,
31st March, 2019 1.81,800;
315t March, 2018 187,200
31st March, 2017 2,53,200.

Calculate the value of goodwill.

3, Calculate the value of goodwill on the basis of three years' purchase of average profit of the preceding
five years which were as follows:

Year ended Profit (T)
31st March, 2020 8,00,000;
31st March, 2019 15,00,000;
31st March, 2018 18,00,000;
31st March, 2017 4,00,000 (Loss);
31st March, 2016 13,00,000.

Average Profit Method when Past Adjustments are made

4 Divya purchased lyoti's business with effect from 1st April, 2020. Profits shown by Jyoti’s business for
the last three financial years were:

2017-18 : T 1,00,000 (including an abnormal gain of T 12.500).
2018-19 : ¥ 1,25,000 (after charging an abnormal loss of ¥ 25,000),
2019-20 : T 1,12,500 (excluding ¥ 12,500 as insurance premium on firm’s property—now to be insured).

Calculate the value of firm’s goodwill on the basis of two years' purchase of the average profit of the last
three years.

W

. Abhay, Babu and Charu are partners sharing profits and losses equally. They agree to admit Daman for
equal share of profit, For this purpose, the value of goodwill is to be calculated on the basis of four years'
purchase of average profit of last five years. These profits for the year ended 315t March, were:

Year 2016 2017 2018 2019 2020

R —

Profit/(Loss) (T) 1,50,000 3,50,000 5,00,000 7,10,000 {5,90,000)

On 15t April, 2019, a car costing  1,00,000 was purchased and debited to Travelling Expenses Account,
on which depreciation is to be charged @ 25%. Interest of T 10,000 on Non-trade Investments is credit
to Income for the year ended 31st March, 2019 and 2020,

Calculate the value of goodwill after adjusting the above.

6. Bharat and Bhushan are partners sharing profits in the ratio of 3 : 2. They decided to admit Manu as a
partner from 15t April, 2020 on the following terms:

(il Manu will be given 2/5th share of the profit.
1) Goodwill of the firm will be valued at two years' purchase of three years' normal average profit of the firm.



Profits of the previous thice years ended 315t March, were:
2020—Profit T 30,000 (after debiting loss of stock by fire T 40,000).
2019—Loss T 80,000 (includes voluntary retirement compensation pald 2 1,10,000).

2018—Profit T 1,10,000 (including a gain (profit) of T 30,000 on

You are required to value the goodwill

7. Bhaskar and Pillai are partners sharing profits and losses in the ratio of 3 : 2. They admit Kanika iny,
partnership for 174th share in profit. Kanika brings in her share of goodwill in cash. Goodwill for thy
purpose Is to be calculated at two years' purchase of the average normal profit of past three years. Profy

of the last three years ended 315t March, were:

2018—Profit 50,000 (Including profit on sale of assets T 5,000).

2019—Loss T 20,000 (including loss by fire T 30,000).

2020—Profit T 70,000 (including insurance claim received T 18,000 and
Dividend received T 8,000).

Calculate value of goodwill. Also, calculate goodwill brought in by Kanika.

& Sumit purchased Amit’s business on 15t April, 2020. Goodwill was decided to be valued at two yeary'
purchase of average normal profit of last four years. The profits for the past four years were:

Year Ended 315t March, 2017 | 31st March, 2018 315t March, 2019 | 31st March, 2020
profits (T) 80,000 1,45,000 1,60,000 2,00,000

the sale of fixed assets).

interest on investments and

Verification of books of account revealed the following:
(i) Abnormal loss of T 20,000 was debited to Profit and Loss Account for the year ended 31st March, 2017.
(i) A foed asset was sold on 15t April, 2017 and gain (profit) of T 25,000 was credited to Profit and Loss Account
@) In the year ended 31st March, 2019 assets of the firm were not insured due t0 oversight. Insurance
premium not paid was ¥ 15,000.
Calculate the value of goodwill.

9. Parul and Rahul are partners in a firm. They admit Param into partnership for equal share. It was agreed that
goodwill will be valued at three years' purchase of average profit of last five years, Profits for the last five

years were:
Year Ended | 315t March, 2016 | 31st March, 2017 | 31st March, 2018 | 31st March, 2019 | 31st March, 2020

Profits (?) 90,000 (Loss) 1,60,000 1,50,000 65,000 177,000
—

Books of Account of the firm revealed that:
() The firm had gain (profit) of T 50,000 from sale of machinery sold in the year ended 31st March

2017. The gain (profit) on sale of machinery was credited to Profit and Loss Account.

(i) There was an abnormal loss of T 20,000 incurred in the year ended 315t March, 2018 because of ¢
machine becoming obsolete in accident.

(iil) Overhauling cost of second-hand machinery purchased on 1st July, 2018 amounting
¥ 1,00,000 was debited to Repairs Account. Depreclation is charged @ 20% p.a. on Written Dow?
Value Method.

Calculate the value of goodwill.




Wﬂ“"d Average Profit Method

0. Profits of a firm for the year ended 31st March for the last five years were:

v Ended | 315tMarch, 2016 | 31stMarch, 2017 | 31stMarch,2018 | 3istMarch,2019 | 31stMarch,2020
W 200 24,000 30,000 25,000 18,000

1.

12

Calculate value of goodwill on the basis of three years' purchase of Weighted Average Profit after
assigning weights 1,2, 3, 4 and 5 respectively to the profits for years ended 31st March, 2016, 2017,
2018, 2019 and 2020,

Amitabh and Bachan are partners sharing profits and losses in the ratio of 5 : 3, On 1st April, 2020, Chaman
is admitted to the partnership for 1/4th share of profits. For this purpose, goodwill is to be valued at two
years' purchase of last three years’ profits (after allowing partners’ remuneration). Profits to be weighted
1:2: 3, the greatest weight being given to last year. Net profits before partners’ remuneration for the
year ended 31st March, 2018, 2019 and 2020 were: ¥ 2,00,000; 7 2,30,000; and T 2,50,000 respectively.
The remuneration of the partners is estimated to be ¥ 90,000 pa. Calculate the amount of goodwill.

gaman and Daman are partners sharing profits in the ratio of 60 : 40 and for the last four years they have
been getting annual salaries of T 50,000 and T 40,000 respectively. The annual accounts have shown the
following net profit before charging partners’ salaries:

Year ended 31st March, 2018—2 1,40,000; 2019—7% 1,01,000 and 2020—7 1,30,000.

On 1st April, 2020, Zeenu is admitted to the partnership for 1/4th share in profit (without any salary).
Goodwill is to be valued at four years' purchase of weighted average profit of last three years (after
partners’ salaries); Profits to be weighted as 1 :2 : 3, the greatest weight being given to the last year.
Calculate the value of Goodwill.

Weighted Average Profit Method when Past Adjustments are Made

13.

Calculate goodwill of a firm on the basis of three years' purchase of the Weighted Average Profit of the last four
years.The profits of the last four financial years ended 315t March, were: 2017—2 25,000; 2018—2 27,000; 2019—
¥ 45,900 and 2020—7X 53,810, The weights assigned to each year are: 2017—1; 2018—2; 2019—3; 2020—4.
You are supplied the following information:

(i) On 1st April, 2017,a major plant repair was undertaken for ¥ 10,000 which was charged to revenue.The
said sum is to be capitalised for goodwill calculation subject to adjustment of depreciation of 10% on
Reducing Balance Method.

(i) The Closing Stock for the years ended 31st March, 2018 and 2019 were overvalued by 1,000 and

T 2,000 respectively.
(iii) Tocovermanagementcostan annual charge o 5,000 should be made for the purpose of goodwill valuation.

. Dinesh and Mahesh are partners sharing profits and losses in the ratio of 3 : 2. They admit Ramesh into

partnership for 1/4th share in profits. Ramesh brings in his share of goodwill in cash. Goodwill for this
purpose shall be calculated at two years' purchase of the weighted average normal profit of past three
years. Weights being assigned to each year 2018-1;2019-2 and 2020-3. Profits of the last three years were:
2018—Profit T 50,000 (including profits on sale of assets ¥ 5,000).

2019—Loss 7 20,000 (including loss by fire T 35,000).
2020—Profit ¥ 70,000 (including insurance claim received T 18,000 and interest on investments and

dividend received ¥ 8,000).
Calculate the value of goodwill. Also, calculate the goodwill brought in by Ramesh.

- Manbir and Nimrat are partners and they admit Anahat into partnership. It was agreed to value goodwill at

three years’ purchase on Weighted Average Profit Method taking profits of last five years. Weights assigned
10 each year as 1,2, 3,4 and 5 respectively to profits for the year ended 315t March, 2016 to 2020, The
profits for these years were: 2 70,000, T 1,40,000, ¥ 1,00,000. 2 1,60,000 and ¥ 1,65,000 respectively.



Scruting of books of account revealed following information:
M Mwasanabno«nalhssof!mmthenar
(i) There was an abnormal gain (profit) of T 30,000 in t

ended 31st March, 2016.
he year ended 31st March, 2017.

(i) Closing Stock as on 315t March, 2019 was overvalued by T 10,000.
Cakulate the value of goodwill.

16. Mahesh and Suresh are partners and they ad
at theee years' purchase on Weighted Average
assigned weights from 110 5 beginning from

mit Naresh into partnership. They agreed to value goodwy

profit Method taking profits for the last five years. They
the earliest year and onwards. The profits for the last fiyy

years were as follows:
YearEnded | 31stMarch,2016 | 31stMarch 2017 315t March, 2018 | 31stMarch, 2019 | 3ist March, 202
Profits (T) 1,25,000 1,40,000 1,20,000 55,000 2.57,000

Scrutiny of books of account revealed the following:

(i A second-hand mac
make It operational,

@ 20% pa. on Written Down Value Method,
(i) Closing Stock as on 31st March, 2019 was undervalued by T 50,000,

(i) Management Cost T 40,000 p.a. was 10 be consider

Calculate the value of goodwill.
the goodwill of a firm on the basis of three years’ purchase of the weighted average profit of

hine was purchased for 2 5,00,000 on 1st July, 2018 a
2 1,00,000 were wrongly debited to Repairs Account. Machinery is depreciated

od as charge against profit.

nd T 1,00,000 were spent to

17. Caiculate
the last four years. The appropriate weights to be used and profits are:
Year 2016-17 2017-18 2018-19 2019-20
Profits (7) 1,01,000 1,24,000 1,00,000 1,40,000
Welghts 1 2 3 4
On a scrutiny of the accounts, the following matters are revealed:
(i) On 15t December, 2018, a major repair was made In respect of the plant Incurring ¥ 30,000 which
was charged to revenue. The said sum is agreed to be capitalised for goodwill calculation subject

to adjustment of depreciation of 10% pa. on Reducing Balance Method.
{ii) The closing stock for the year ended 315t March, 2018 was

(ili) Yo cover management cost, an annual charge of T 24,000

goodwill valuation,

(iv) On 1st April, 2017, a machine having a
were wrongly credited to Profit and Loss Account.

overvalued by T 12,000,

Depreciation Is charged on machine @ 10% p.a. on Reducing Balance Method,
Super Profit Method

18. Average profit earned by a firm
average basis. The capital invest
Calculate goodwill of the firm on

19. Gupta and Bose had a firm in
T 16,000. The normal rate of return

ofprofﬂshencessofpmﬁu’ﬁ%ondnm«wkwﬂed.wmemegoodwm.

20, Rakesh a

that the

at three years' purchase of super profit.

should be made for the purpose of

book value of T 10,000 was sold for T 11,000 but the proceeds
No effect has been given to rectify the same

is T 80,000 which includes undervaluation of stock of T 8,000 on 3"
ed in the business is T 8,00,000 and the normal rate of return is 8%
the basis of 7 times the super profit
which they had invested ¥ 50,000. On an average, the profits weft
in the industry Is 15%. Goodwill is to be valued at four years’ purchasé

nd Ashok earned a profit of T snw.mwempmmdtzs.ooommamnbupmd
normal rate of return is 15% of the capital. Caiculate amount of goodwill If goodwill is



age net profit expected In future

n ;u":' ness by the firm is ¥ 2,00,000. The
s 10% Remuneration of the partners (M
walue of goodwill on the basis of two ye

: A Nﬂmﬂhlp firm earﬂed net pl'oﬁts d‘Uﬁﬁv Ihe hst th
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33, A partnership firm earned net profits during

Year Ended
31st March, 2020
315t March, 2019
315t March, 2018

Capital investment in the firm throughout the abo
regard to the risk involved, 15% is considered to be
partners (Management Cost) during this period is est
Cakulate value of goodwill on the basis of two years’

above-mentioned three years,

nor

by Zee & Co.is ¥ 36,000
mal rate of return fr
anagement Cost) j
ars' purchase of super profit,

the past three years as follows:

Net Profit (T)
2,30,000;
2,00,000;
1,70,000.

ee years ended 315t March, as follows:

per year. Average capital employed in the
om capital invested in this class of business
s estimated to be ¥ 6,000 pa. Find out the

ve-mentioned period has been 2 4,00,000. Having
a fair return on the capital. The remuneration of the
imated to be ¥ 1,00,000 p.a.

purchase of average super profit earned during the

24. \deal Marketing earned an average profit of 2 4,00,000 during the last five years. Normal rate of return

on capital employed is 10%. Balance Sheet of the firm as at 31st March, 2020 was as follows:

Liabilities ? Assets L4
Capital Alcs: Land and Building 10,00,000
Shyam 5,00,000 Furniture 2,00,000
Sunder 5,00,000 10,00,000 Investments 100,000
Current Alcs: Sundry Debtors 5,00,000
Shyam 2,00,000 Bills Receivable 50,000
Sunder 2,00,000 4,00000 | Closing Stock 3,00,000
Reserves 340000 | CashinHand 50,000
Sundry Creditors 400,000 | CashatBank 1,00,000
Bills Payable 1,00,000
Outstanding Expenses 60,
23,00,000 23,00,000
_— ————

Caiculate the value of goodwill, if it is valued at three years’ purchase of Super Profits.

25. Varuna and Karuna are partners for equal shares. They admit Lata into partnership for 1/4th share. It was
agreed to value goodwill of the firm at 4 years' purchase of super profit. Normal rate of return is 15% of
the capital employed. Average profit of the firm is ¥ 4,00,000. Balance Sheet of the firm as at 31st March,

2020 was as follows:

Labiites ? Assets 4
Gpital Afcs: Fumniture 4,00,000
¥arung 5,00,000 Computers 300,000
Faruny 5,00,000 | 10,00000 | Electrical Fittings 1,00,000
Reserves and Surplys — ] 550000 | Investments (Trade) 2,00,000
Sundry Creditors 2,00,000 | Stock 3,00,000
Outstanding Expenses 50,000 | Sundry Debtors 3,00,000
Advances from Customers 1,50,000 | Bills Receivable 50.000
Cash in Hand 50,000
Cash at Bank 2,00,000
Deferred Revenue Expenditure:
Advertisement Suspense
19,50,000

Calculate the value of goodwill.



26. On 15t April, 2020, an existing firm had assets of T 75,000 including cash of T 5,000, Its Creditoy
amounted to T 5000 on that date. The firm had a Reserve of T 10,000 while Partners’ Capital ACCOung,
showed a balance of T 60,000. If Normal Rate of Return s 20% and goodwill of the firm is valyeq P
T 24,000 at four years’ purchase of super profit, find average profit per year of the existing firm.

Super Profit Method when Past Adjustments are made

27. Average profit earmned by a firm is 2 1,00,000 which includes undervaluation of stock of T 40,000 on an
average basis. The capital invested in the business Is T 6,30,000 and the normal rate of return is s
Calculate goodwill of the firm on the basis of 5 times the super profit.

28 The average profit earned by a firm is ¥ 7,50,000 which includes overvaluation of stock of T 30,000 ¢
an average basis. The capital invested in the business is 2 42,00,000 and the normal rate of retumn is 155
Calculate goodwill of the firm on the basis of 3 times the super profit.

29. Ayub and Amit are partners in a firm and they admit Jaspal into partnership w.e.f. 15t April, 2020_17...’
agreed to value goodwill at 3 years’ purchase by Super Profit Method for which they decided to average
profit of last 5 years. The profits for the last 5 years were:

Year Ended Net Profit (T)

315t March, 2016 1,50,000;

315t March, 2017 1,80,000;

31st March, 2018 1,00,000 (Including abnormal foss of T 1,00,000);

315t March, 2019 2,60,000 (Including abnormal gain (profit) of T 40,000);
31st March, 2020 2,40,000.

The firm has total assets of T 20,00,000 and Outside Liabilities of T 5,00,000 as on that date. Normal Rate
of Return in similar business is 10%,
Calculate value of goodwill.

Capitalisation Method

30. From the following information, calculate value of goodwill of the firm by applying Capitalisation Method
Total Capital of the firm 2 16,00,000.

Normal rate of return 10%.
Profit for the year T 2,00,000.

31. A firm earns T 3,00,000 as its annual profit, the rate of return being 12%. Assets and liabilities
of the firm amounted to T 36,00,000 and T 12,00,000 respectively. Calculate value of goodwill by
Capitalisation Method,

32. Average profits of the firm are ¥ 3,00,000. Total tangible assets in the firm are  28,00,000 and outside liabilities
are T 8,00,000. In the same type of business, the normal rate of return is 10% of the capital employed.

Calculate the value of goodwill by Capitalisation of Super Profit Method,
33. From the following particulars, calculate value of goodwill of a firm by applying Capitalisation of Averag®
Profit Method:
(i) Profits of last five consecutive years ending 31st March, are: 2020—? 54,000; 2019—T 42,000;
2018—1 39,000;2017—T 67,000 and 2016—7T 59,000.
(ii) Capitalisation rate 20%.

(iii) Netassets of the firm ¥ 2,00,000.
34 Ravi and Kant are partners in a business with balances in their Capital and Current Accounts as o"

315t March, 2020 were:
Capital Account Current Account
Ravi T 2,50,000 2 50,000 (Cr)
T 3,00,000 2 25,000 (D

Kant
The firm earned an average profit of T 1,25,000. If the normal rate of return Is 10%, find the value of

goodwill by Capltalisation Method.



capltalisation of Super Profit

15, Average prﬂﬁt of the firm is T 2,00,000, Total assets of the firm are ? 15,00,000 whereas Partners’ Capilal
is 1 12,00,000. if normal rate of return in 3 similar business is 109% of the capital employed, what is the
value of goodwill by Capitalisation of Super Profit?

36. Average profit of GS & Co. is X 50,000 per year, Average capital employed in the business is T 300,000,

if the normal rate of return on capital emplayed is 10%, calculate goodwill of the firm by:
il Super Profit Method at three years' pur{hase; and

(i) Capitalisation of Super Profit Method,
37. From the following Information, calculate the valye of goodwill of M/s
(i) Atthree years' purchase of Average Profir.
(i) At three years' purchase of Super Profit.
fiii) On the basis of Capitalisation of Super Profit,
(iv) On the basis of Capitalisation of Average Profit.
Information;
a) Average capital employed in the business—? 7,50,000.

(b) Net Trading results of the firm for the past years: Profit for 2017-18—2 2,25,000; Loss for 2018-19
—1T 1,87,500; Profit 2019-20—2 6,37,500.
(c} Rate of interest expected from capital having regard to the risk involved—15%.
(dl Remuneration to each partner for his service treated as a charge on profits—¥ 3,750 per month.
fe) Assets (excluding goodwil}—3 9,00,000; Liabilities—2 75,000.
38. A business has eamed average profit of T 4,00,000 during the last few years and the normal rate of
return in similar business is 10%. Find value of goodwill by:
(i) Capitalisation of Super Profit Method, and
(i) Super Profit Method if the goodwill is valued at 3 years' purchase of super profit.
Assets of the business were T 40,00,000 and its external liabilities 2 7,20,000.

35. Ajeet and Baljeet are partners in a firm. Their capitals are 2 9,00,000 and 2 6,00,000 respectively. During

the year ended 315t March, 2020 the firm earned a profit of ¥ 4,50,000. Assuming that the normal rate
of return is 20%, calculate value of goodwill of the firm:

(il By Capitalisation Methad: and
(i) By Super Profit Method if the goodwill is valued at 2 years' purchase of super profit.
40. A firm earns profit of T 5,00,000. Normal Rate of Return in a similar type of business is 10%, The
value of total assets (excluding goodwill} and total outsiders’ liabilities as on the date of goadwill are

%55,00,000 and ¥ 14,00,000 respectively. Calculate value of goodwill according to Capitalisation of Super
Profit Method as well as Capitalisation of Average Profit Method.

Ram & Rahim:;

Scan QR Code for Master Question

Scan QR Code for Key Terms and Chapter Summary




[ GUIDE TO ANSWERS |

1. Goodwill—T 45.000.

2. Goodwill—T 2,27,550.

3. Goodwill—T 20,00,000.

4. Goodwill—T 2,25,000.

5. Goodwill—T 9,40,000.

6. Goodwill—T 1,20,000.

7. Goodwill—T 66.000; Kanika shall bring 1/4th of T 66,000 = T 16,500 as Goodwill.
8 Goodwill—T 2,.82,500.

9. Goodwill—T 3,00,000.

10. Goodwill—2 69,600.

. Goodwill—T 2,90,000.
12. Goodwill—T 1,28,000.

13. Goodwill—T 1,20,000.
14. Goodwill—¥ 69.000; Ramesh shall bring 1/4th of T 69,000 = T 17,250 as Goodwill.

15. Goodwill—T 4,17,000.
16. Goodwill—T 3,75.000.
17. Goodwill—T 3,12,702.
18. Goodwill—T 1,68,000.
19. Goodwill—T 34,000.
20. Goodwill—T 3,750,
21. Goodwill—T 20,000.
22. Goodwill—T 16,000.
23. Goodwill—T 80,000.
24. Capital Employed = T 16,40,000; Normal Profit = T 1,64,000; Super Profit = T 2,36,000:; Goodwill = T 7,08,000.
[Hint: Capital Employed = T 23,00,000 (Total Assets) — ¥ 5.60,000 (Outside Liabilities) — T 1,00,000
(inwvestments, being Non-trade).]

25. Goodwill—T 7,00,000.

[Hint: Capital Employed = Total Assets — Fictitious Assets — Current Liabilities

= ¥ 19,50,000 - T 50,000 - T 4,00,000 = T 15,00,000.

26. Capital Employed = T 70,000; Normal Profit = T 14,000; Super Profit = T 6,000;

Average Profit = Normal Profit + Super Profit = T 20,000.

27 will'_*t 5,42,500.

Goodwlll——f 2,70,000.
Goodwill—T 1,44,000.

30. Goodwill—T 4.00,000.

Goodwill—T 1,00,000.

3.
12, Goodwill—T 10,00,000.

33. Goodwill—% 61,000. }
34, Goodwill—T 6,75,000.

Goodwill—T 8,00,000.
Goodwill—(i) T 60,000; (ii) T 2,00.000.

Goodwill—{l) T 4,05,000; (i) T 67,500; (i) T 1,50,000; (iv] T 75.000.
[Hint: Average Profit after partners’ remuneration = T 1.35,000.)

Goodwill—(i) T 7,20,000; (i) T 2,16,000.
Goodwill—{i) T 7.50,000; (i) T 3,00,000.
Goodwill—T 9,000,000 in both cases.
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